Efficiency vs dr

0.5

0.45

0.35]

efficiency vs AR
=}
D

©
w

o
o ¢
a
III'TI.'!'PIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

iy

—=— DQM_CKF_TTbase

_| —— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epoch2

08 T

N 1072 107t

[ Efficiency vs dr (track,jet) |

1
TP min AR

§0.05
00.045
=
%0.04
9.035
>
£0.03
o
j5=E).025
)
0.02
0.015
0.0
0.005

[y

107 1072

1
AR(TP, jét)

-1

........................................

........................................

.......................................

........

Ratio




	Contents
	Page 1


